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134 137 134 137
o1 26 £ 4 H 17 H ancac (i fisncach ancac (Eiancacn
90 0%y <0. 66 <0. 76 <0. 59 <0. 71
No. 9 26 #£ 5 H 15 H anncac i fisncach anncac Eiancarn
90 0%y <0. 73 <0. 73 <0. 81 <0. 76
Yo, 3 26 #£ 6 H 19 H anncac [ fisncac anncac Eiancacn
90 0%y <0. 49 <0. 73 <0. 70 <0. 80
Yo 4 26 4£ 7 H 17 H inncac (i fisncach inncac (Eiancacn
90 0%y <0. 72 <0. 73 <0. 84 <0. 75
o5 26 £ 8 H 21 H nncac (i fisncach nncac (Eiancacn
90 0%y <0. 55 <0. 78 <0. 67 <0. 82
Yo, 6 26 #£ 9 H 18 H anncac i fisncach anncac Eiancarn
90 0%y <0. 64 <0. 68 <0. 70 <0. 82
No.7 26 4£ 10 A 16 A T R g T R g
90 0%y <0. 56 <0. 71 <0. 76 <0. 78
Yo, 8 26 4 11 H 20 A anncac i fisncach anncac Eiancacn
90 0%y <0. 67 <0. 71 <0. 76 <0. 78
o9 26 4 12 A 18 A T R g T R g
90 0%y <0. 64 <0. 68 <0. 76 <0. 75
No. 10 27 £ 1 A 15 H B i {ankcach B i {ankcach
90 0% <0. 61 <0. 62 <0. 79 <0. 78
o 11 39 4 2 A 19 H B i {ankcach B i {ankcach
90 0% <0. 72 <0. 54 <0. 81 <0. 73
\o. 12 39 4 3 A 19 H B i {ankcach B i {ankcach
90 0% <0. 70 <0. 76 <0. 66 <0. 80




